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[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹

l¡üv¡¹  ƒà*¡ú

1. ™[ƒ x, 
| | | | | |x x x- + - + - ³1 2 3 6

"Î³ãA¡¹o[i¡ìA¡ [Î‡ý¡ A¡ì¹, t¡àÒìº

(A) 0 4£ £x

(B) x £ 0 "=¤à x ³ 4

(C) x £ - 2 "=¤à x ³ 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

2. ™[ƒ p q2 2 1+ =  &¤} m n2 2 1+ =  ÒÚ,

t¡àÒìº

(A) | |pm qn+ £ 0

(B) | |pm qn+ £ 1

(C) | |pq mn+ > 1

(D) | |pq mn+ < 2

3. "àK¹t¡ºà¹ 1003 [i¡ š[¹¤à¹ìA¡ [>ìÚ &A¡[i¡
Î³ãÛ¡àÚ ëƒJà ëKº 63 [i¡ š[¹¤àì¹¹ A¡àì¹à¹Òü
&A¡[i¡ ë³à¤àÒüº ¤à º¸àši¡š ë>Òü, 794 [i¡
š[¹¤àì¹ &A¡[i¡ A¡ì¹ ë³à¤àÒüº &¤} 187 [i¡
š[¹¤àì¹ &A¡[i¡ A¡ì¹ º¸àši¡š ¹ìÚìá¡ú ™t¡P¡[º
š[¹¤àì¹¹ &A¡[i¡ ë³à¤àÒüº * &A¡[i¡ º¸àši¡š
l¡ü®¡ÚÒü ¹ìÚìá t¡à¹ Î}J¸à Òº

(A) 41

(B) 40

(C) 22

(D) 20

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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Direction : Answer the following questions by

selecting the correct option.

1. If x satisfies the inequality

| | | | | |x x x- + - + - ³1 2 3 6

then

(A) 0 4£ £x

(B) x £ 0 or x ³ 4

(C) x £ - 2 or x ³ 4

(D) None of the above

2. If p q2 2 1+ =  and m n2 2 1+ = , then

(A) | |pm qn+ £ 0

(B) | |pm qn+ £ 1

(C) | |pq mn+ > 1

(D) | |pq mn+ < 2

3. In an investigation of 1003 families

of Agartala, it is found that 63

families have neither a mobile nor a

laptop, 794 families have a mobile

and 187 a laptop. The number of

families in that group having both a

mobile and a laptop is

(A) 41

(B) 40

(C) 22

(D) 20

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


4. [>ìW¡¹ ëÎiô¡P¡[º¹ ³ì‹¸ ë™ ëÎiô¡[i¡ ÎÎã³ >Ú ëÎ[i¡ 
Òº

(A) P a a= { :  Òº ¹à³‹>å¹ &A¡[i¡ ¹R¡}

(B) Q b b= { :  Òº K[ot¡ ¤ÒüìÚ¹ &A¡[i¡ šõË¡à}

(C) R c c= { :  Òº 2016 Îàìº \´šåÒü
šàÒàìØl¡ l¡ü;šÄ A¡³ºàP¡[º¹ &A¡[i¡}

(D) S d d= { :  Òº ³ÒàA¡àìÅ¹ &A¡[i¡ t¡à¹à}

5. ‹¹à ™àA¡,

A x x= { : , 21 &¹ ëáài¡ &A¡[i¡ ë³ï[ºA¡
Î}J¸à}

&¤} B x x= <{ : 20, &A¡[i¡ ‹>àuA¡ [¤ì\àØl¡ 
"Jr¡ Î}J¸à }

t¡àÒìº B AD  Òì¤

(A) Æ

(B) { , }1 2

(C) { , , , }1 2 9 11

(D) { , , , }1 2 9 15

6. &A¡[i¡ Î´¬Þê¡ R a b a b Z= Î{( , ) : ,  &¤}
a b- , 5 ‡à¹à [¤®¡à\¸} ë™Jàì> Z  Òº ÎA¡º
"Jr¡ Î}J¸à¹ ëÎiô¡¡ú t¡àÒìº R Î´¬Þê¡[i¡

(A) Ç¡‹å³ày šø[t¡Î³

(B) Ç¡‹å³ày Ñ¬Î³

(C) Î}yû¡[³t¡ >Ú

(D) &A¡[i¡ Î³tå¡º¸t¡à Î´¬Þê¡

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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4. Which of the following sets is not

finite?

(A) P a a= { :  is a colour in the

   rainbow}

(B) Q b b= { :  is a page of

   Mathematics book}

(C) R c c= { :  is one of the oranges

   produced at Jampui hill

   in 2016}

(D) S d d= { :  is a star in the

   Universe}

5. Let

A x x= { :  is a prime number less
   than 21}

and B x x= { :  is a positive odd
     integer < 20 }

Then B AD  is

(A) Æ

(B) { , }1 2

(C) { , , , }1 2 9 11

(D) { , , , }1 2 9 15

6. The relation R a b a b Z= Î{( , ) : ,  and 

a b-  is divisible by 5}, where Z  is the 

set of all integers. Then R is

(A) symmetric only

(B) reflexive only

(C) not transitive

(D) an equivalence relation

https://applink.adda247.com/d/XhqWf9lSap
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7. f R R: ®  * g R R: ®  &³>®¡àì¤ Î}`¡àt¡
ë™  f x x( ) = +2 1, g x x( ) = -2 2 ë™Jàì> 

R Òº ¤àÑz¤ Î}J¸àP¡[º¹ &A¡[i¡ ëÎiô¡¡ú t¡àÒìº 
g fo  Òì¤

(A) 2 32x -

(B) 4 4 12x x+ -

(C) 4 42x x-

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

8. y
x

x x
=

- +2 3 2
 "ìšÛ¡A¡[i¡¹ Î}`¡à¹

ëÛ¡y[i¡ Òº

(A) ( , )1 ¥

(B) ( , )- ¥ 2

(C) ( , ) ( , )- ¥ È ¥1 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

9. ë™ Ûå¡‰t¡³ ‹>àuA¡ "Jr¡ Î}J¸à n-&¹ \>¸ 

1

1
1

+

-

æ

è
ç

ö

ø
÷ =

i

i

n

 ÒÚ, t¡à Òº

(A) 1

(B) 2

(C) 3

(D) 4

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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7. Let f R R: ®  and g R R: ®  be

defined by f x x( ) = +2 1, g x x( ) = -2 2

where R is a set of real numbers.

Then g fo  is

(A) 2 32x -

(B) 4 4 12x x+ -

(C) 4 42x x-

(D) None of the above

8. The domain of the function 

y
x

x x
=

- +2 3 2
 is

(A) ( , )1 ¥

(B) ( , )- ¥ 2

(C) ( , ) ( , )- ¥ È ¥1 2

(D) None of the above

9. The smallest positive integer n for

which 
1

1
1

+

-

æ

è
ç

ö

ø
÷ =

i

i

n

, is

(A) 1

(B) 2

(C) 3

(D) 4

https://applink.adda247.com/d/XhqWf9lSap
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10. ™[ƒ

  
( ) ( )1 2

3

2 3

3

+ -

+
+

- +

-
=

i x i

i

i y i

i
i

ÒÚ t¡àÒìº x * y &¹ ¤àÑz¤ ³à> Òº

(A) x = - 3, y = -1

(B) x = 3, y = - 1

(C) x = 3, y = 1

(D) x = 1, y = - 3

11. ™[ƒ ( )( )x a x b c- - = , c ¹ 0 Î³ãA¡¹ìo¹ ƒå[i¡ 
¤ã\ a &¤} b ÒÚ t¡àÒìº 
( )( )x x c- - + =a b 0 Î³ãA¡¹ìo¹ ¤ã\ ƒå[i¡
Òì¤

(A) a &¤} c

(B) b &¤} c

(C) a &¤} b

(D) ( )a c+  &¤} ( )b c+

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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10. If

  
( ) ( )1 2

3

2 3

3

+ -

+
+

- +

-
=

i x i

i

i y i

i
i

then the real values of x and y are
given by

(A) x = - 3, y = -1

(B) x = 3, y = - 1

(C) x = 3, y = 1

(D) x = 1, y = - 3

11. If a and b are the roots of the

equation ( )( )x a x b c- - = , c ¹ 0; then

the roots of the equation 

( )( )x x c- - + =a b 0 are

(A) a and c

(B) b and c

(C) a and b

(D) ( )a c+  and ( )b c+

https://applink.adda247.com/d/XhqWf9lSap
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12. ( )1 15+ x  &¹ [¤Ñzõ[t¡¹ [‡šƒ ÎÒKÎ³èÒ 

C C C C0 1 2 15, , , ,L  Òìº
C

C

C

C

C

C

C

C
1

0

2

1

3

2

15

14

2 3 15
+ + + +L

&¹ ³à> Òì¤

(A) 120 (B) 130

(C) 140 (D) 150

13. ™[ƒ 
3

2

1

3
2

9

x
x

-
æ
è
ç

ö
ø
÷  &¹ [¤Ñzõ[t¡[i¡ìA¡ x-&¹

Qàìt¡¹ "‹@yû¡ì³ Îà\àì>à ÒÚ, t¡àÒìº &¹ Îœ¡³ 
šƒ[i¡ Òì¤

(A) -
7

18

(B) -
7

18

x

(C)
7

18

x

(D)
7

18

14. EQUATION Å¦[i¡¹ ¤o¢P¡[º ¤¸¤Òà¹ A¡ì¹
™t¡P¡[º [¤[®¡Ä Å¦ ít¡¹ã A¡¹à ™àÚ ™àìƒ¹ šø=³
* ëÅÈ ¤o¢ ¤¸g>¤o¢ Òì¤ t¡àìƒ¹ Î}J¸à Òº

(A) 5200

(B) 4320

(C) 4000

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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12. If C C C C0 1 2 15, , , ,L  are the binomial 

coefficients in the expansion of 

( )1 15+ x , then

C

C

C

C

C

C

C

C
1

0

2

1

3

2

15

14

2 3 15
+ + + +L

is

(A) 120 (B) 130

(C) 140 (D) 150

13. If 
3

2

1

3
2

9

x
x

-
æ
è
ç

ö
ø
÷  is expanded in

descending powers of x, then the

7th term is given by

(A) -
7

18

(B) -
7

18

x

(C)
7

18

x

(D)
7

18

14. The number of different words

ending and beginning with a

consonant which can be made out of 

the letters of the word EQUATION is

(A) 5200

(B) 4320

(C) 4000

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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15. ™[ƒ n nP P- + =1
3

1
3 5 12: :  ÒÚ, t¡ì¤

n-&¹ ³à> Òì¤

(A) + 7

(B) - 7

(C) - 8

(D) + 8

16. >ãìW¡¹ ëA¡à>ô [¤¤õ[t¡[i¡ Î[k¡A¡ >Ú?

(A) P¡oó¡ìº¹ ÎàìšìÛ¡ ÎA¡º ³èºƒ Î}J¸à¹
ëÎi¡ &A¡[i¡ Nøç¡š >Ú¡ú

(B) &A¡[i¡ Nøç¡ìš &A¡[i¡¹ ë¤Åã &A¡A¡ l¡üšàƒà>
=àA¡ìt¡ šàì¹ú

(C) &A¡[i¡ Nøç¡ìš¹ ëA¡à> l¡üšàƒàì>¹ [¤š¹ãìt¡¹
[¤š¹ãt¡ l¡üšàƒà>[i¡ ëÎÒü l¡üšàƒà>[i¡ [>ì\Òüú

(D) ë™àKó¡ìº¹ ÎàìšìÛ¡ 

    S = - - -{ , , , , , , }3 2 1 0 1 2 3

&A¡[i¡ Nøç¡š >Úú

17. Poó¡ìº¹ ÎàìšìÛ { , , , }1 1- -i i  Nøç¡š[i¡¹ i &¹
[¤š¹ãt¡ l¡üšàƒà>[i¡ Òº¡ ¡

(A) 1

(B) -1

(C) i

(D) -i

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/6 7 [ P.T.O.

15. If n nP P- + =1
3

1
3 5 12: : , then n is

(A) + 7

(B) - 7

(C) - 8

(D) + 8

16. Which one of the following

statements is not true?

(A) The set of all rational numbers

does not form a group with

respect to multiplication.

(B) A group may have more than

one identity element.

(C) In a group, the inverse of the

inverse of an element is equal to 

the element.

(D) The set S = - - -{ , , , , , , }3 2 1 0 1 2 3

is not a group with the

operation addition.

17. The inverse of i in the multiplicative

group { , , , }1 1- -i i  is

(A) 1

(B) -1

(C) i

(D) -i

https://applink.adda247.com/d/XhqWf9lSap
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18. >ãìW¡¹ ëA¡à>ô[i¡ Î[k¡A¡ >Ú?

(A) &A¡[i¡ "[®¡Îà¹ã ">åyû¡ì³¹ &A¡à[‹A¡ Îã³à
=àA¡ìt¡ šàì¹ú

(B) šø[t¡[i¡ "[®¡Îà¹ã ">åyû¡³ Îã³à¤‡ý¡ ÒÚú

(C) { ( ) }1 1+ - n  ">åyû¡³[i¡ Îã³à¤‡ý¡ [A¡”ñ

"[®¡Îà¹ã >Úú

(D) {( ) ( )}- +1 1n n  ">åyû¡³[i¡ "Îã³®¡àì¤

oscillate ÒÚú

19. 1
1

2

1

3

1

4
+ + + +

! ! !
L ëÅøoã[i¡

(A) "šÎà¹ã

(B) "[®¡Îà¹ã

(C) "šÎà¹ã ¤à "[®¡Îà¹ã ëA¡à>i¡àÒü >Ú

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

20. &A¡[i¡ [¤š¹ãt¡ šøK[t¡¹ 12t¡³ šƒ * 19t¡³ šƒ 

™=àyû¡ì³  
1

5
 * 

3

22
. šøK[t¡[i¡¹ W¡tå¡=¢ šƒ[i¡ Òº

(A)
3

7

(B)
7

3

(C)
1

3

(D)
4

3

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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18. Which of the following is not true?

(A) The limit of a convergent

sequence is not unique.

(B) Every convergent sequence is

bounded.

(C) The sequence { ( ) }1 1+ - n  is

bounded but not convergent.

(D) The sequence {( ) ( )}- +1 1n n

oscillates infinitely.

19. The series 1
1

2

1

3

1

4
+ + + +

! ! !
L is

(A) divergent

(B) convergent

(C) neither divergent nor convergent

(D) None of the above

20. The 12th and 19th terms of a

harmonic progression are

respectively 
1

5
 and 

3

22
. Then the 4th

term of the progression is

(A)
3

7

(B)
7

3

(C)
1

3

(D)
4

3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


21. ™[ƒ S nP
n n

Qn = +
-( )1

2
 ÒÚ, ë™Jàì> Sn

&A¡[i¡ Î³à”z¹ šøK[t¡¹ n Î}J¸A¡ šìƒ¹ ë™àKó¡º, 
t¡àÒìº šøK[t¡[i¡¹ Îà‹à¹o "”z¹ Òì¤

(A) P Q+

(B) 2 3P Q+

(C) 2Q

(D) Q

22. ™[ƒ

V

m n p

n p m=

1 1 1

ÒÚ t¡àÒìº
1

1

1

m n

n p

p m

&¹ Î³à> Òì¤

(A) V

(B) - V

(C) 0

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

23. x y z

x y z

x y z

+ + =

+ + =

+ + =

2 3 1

2 3 2

5 5 9 4

Î³ãA¡¹oP¡[º¹

(A) &A¡A¡ Î³à‹à> =àA¡ì¤

(B) "Î}J¸ Î³à‹à> =àA¡ì¤

(C) ëA¡à> Î³à‹à> =àA¡ì¤ >à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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21. If S nP
n n

Qn = +
-( )1

2
, where Sn  is

the sum of n terms of an arithmetic

progression, then its common

difference is

(A) P Q+

(B) 2 3P Q+

(C) 2Q

(D) Q

22. If

V

m n p

n p m=

1 1 1

then

1

1

1

m n

n p

p m

equals

(A) V

(B) - V

(C) 0

(D) None of the above

23. The equations

x y z

x y z

x y z

+ + =

+ + =

+ + =

2 3 1

2 3 2

5 5 9 4

have

(A) unique solution

(B) in fi nitely many solutions

(C) no solution

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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24. ™[ƒ

A =
-

-

é

ë
ê

ù

û
ú

1 1

2 1
, B

a

b
=

-

é

ë
ê

ù

û
ú

1

1

&¤} A B A B2 2 2+ = +( )  ÒÚ, t¡àÒìº a

&¤} b &¹ ³à> Òì¤ ™=àyû¡ì³

(A) 2, 2

(B) 3, -2

(C) 1, 4

(D) -4, 7

25. ™[ƒ

A

c

c

c

=

é

ë

ê
ê
ê

ù

û

ú
ú
ú

0 0

0 0

0 0

ÒÚ, t¡àÒìº | |adj A  &¹ ³à>

(A) c 3

(B) c 6

(C) c 9

(D) c 27

26. sin sinq q+ =2 1 Òìº,

  cos cos cos cos12 10 8 63 3 1q q q q+ + + -

&¹ ³à> Òì¤

(A) 0

(B) 1

(C) -1

(D) 2

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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24. If

A =
-

-

é

ë
ê

ù

û
ú

1 1

2 1
, B

a

b
=

-

é

ë
ê

ù

û
ú

1

1

and A B A B2 2 2+ = +( ) , then the

values of a and b are respectively

(A) 2, 2

(B) 3, -2

(C) 1, 4

(D) -4, 7

25. If

A

c

c

c

=

é

ë

ê
ê
ê

ù

û

ú
ú
ú

0 0

0 0

0 0

then the value of | |adj A  is

(A) c 3

(B) c 6

(C) c 9

(D) c 27

26. If sin sinq q+ =2 1, then the value of 

  cos cos cos cos12 10 8 63 3 1q q q q+ + + -

is equal to

(A) 0

(B) 1

(C) -1

(D) 2

https://applink.adda247.com/d/XhqWf9lSap
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27. ( sin cos )3 75 75° - °  &¹ ³à> Òº

(A) 1

(B) 2

(C) 2

(D) 2 2

28. cos sin2 2 7x a x a+ = -  Î³ãA¡¹o[i¡¹
&A¡[i¡ Î³à‹à> =àA¡ì¤ ™[ƒ

(A) a < 2

(B) 2 6£ £a

(C) a > 6

(D) a &A¡[i¡ ë™ ëA¡à> "Jr¡ Î}J¸à ÒÚ

29. [yìA¡àìoà[³[t¡A¡ Î³ãA¡¹o 
cos ( sin )x x= -3 1  &¹ n ZÎ  (Z  Òº
"Jr¡ Î}J¸à¹ ëÎiô¡) &¹ Îà‹à¹o Î³à‹à>[i¡ Òì¤

(A) x n= ±p p

(B) x n= ±p
p

2

(C) x n n= + - -p
p p

( )1
3 6

(D) x n= ±p
p

3

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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27. The value of

( sin cos )3 75 75° - °

is

(A) 1

(B) 2

(C) 2

(D) 2 2

28. The equation

        cos sin2 2 7x a x a+ = -

possesses a solution if

(A) a < 2

(B) 2 6£ £a

(C) a > 6

(D) a is any integer

29. The general solution of the

trigonometrical equation 

cos ( sin )x x= -3 1  for n ZÎ  (Z  is

the set of integers) is given by

(A) x n= ±p p

(B) x n= ±p
p

2

(C) x n n= + - -p
p p

( )1
3 6

(D) x n= ±p
p

3

https://applink.adda247.com/d/XhqWf9lSap
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30. ™[ƒ c t= -sin 1 , d t= -cos 1 ; - £ £1 1t

ÒÚ, t¡àÒìº Î[k¡A¡ Î´šA¢¡[i¡ Òì¤

(A) c d+ = 2

(B) c d- = 2

(C) c d+ =
p

2

(D) c d- =
p

2

31. ™[ƒ ABC  [y®å¡ì\¹ ëÛ¡yó¡º D ÒÚ, t¡àÒìº 
a B b A2 22 2sin sin+  &¹ Î³à> Òº

(A) D

(B) 2D

(C) 3D

(D) 4D

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/6 12

30. If c t= -sin 1 , d t= -cos 1 ; - £ £1 1t ,

then the correct relationship is

(A) c d+ = 2

(B) c d- = 2

(C) c d+ =
p

2

(D) c d- =
p

2

31. If D stands for the area of a triangle 

ABC , then a B b A2 22 2sin sin+  is

equal to

(A) D

(B) 2D

(C) 3D

(D) 4D

https://applink.adda247.com/d/XhqWf9lSap
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32.   x y x y2 2 2 4 4 0+ + + - = ,

  x y x y2 2 6 4 9 0+ + + + = ,

&¤} x y x y2 2 4 4 2 0+ - - + =

¤õv¡ [t¡>[i¡¹ ëA¡–ƒøÎ³èìÒ¹ Î}ì™àìK¹ ó¡ìº l¡ü;šÄ
[y®å¡ì\¹ ëÛ¡yó¡º

(A) 4 ¤K¢ &A¡A¡

(B) 6 ¤K¢ &A¡A¡

(C) 8 ¤K¢ &A¡A¡

(D) 12 ¤K¢ &A¡A¡

33. 2 3 0x y- - =  Î¹ºì¹Jà¹ ‡à¹à ëá[ƒt¡ 
y x2 8=  "[‹¤õìv¡¹ \¸à-&¹ íƒQ¢¸

(A) 4 &A¡A¡

(B) 4 2 &A¡A¡

(C) 4 5 &A¡A¡

(D) 5 &A¡A¡

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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32. The area of the triangle formed by

joining the centres of the circles

  x y x y2 2 2 4 4 0+ + + - = ,

  x y x y2 2 6 4 9 0+ + + + = ,

and x y x y2 2 4 4 2 0+ - - + =

is

(A) 4 sq. units

(B) 6 sq. units

(C) 8 sq. units

(D) 12 sq. units

33. The length of the chord intercepted

by the straight line 2 3 0x y- - =  on

the parabola y x2 8=  is

(A) 4 units

(B) 4 2 units

(C) 4 5 units

(D) 5 units

https://applink.adda247.com/d/XhqWf9lSap
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34.   4 4 2 26 9 02 2x xy y x y- + + - + =

A¡[>A¡[i¡ ë™ ¤yû¡ [>ìƒ¢Å A¡ì¹ t¡à Òº

(A) "[‹¤õv¡

(B) l¡üš¤õv¡

(C) š¹à¤õv¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

35. 5 6 02 2x xy y- + =  Î¹ºì¹Jà™åKìº¹

³‹¸A¡à¹ ëA¡ào[i¡ Òº

(A) tan-1 1

3

(B) tan-1 2

3

(C) tan-1 3

(D) tan-1 1

2

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

/6 14

34. The equation of the conic

  4 4 2 26 9 02 2x xy y x y- + + - + =

represents the curve

(A) parabola

(B) ellipse

(C) hyperbola

(D) None of the above

35. The angle between the pair of

straight lines 5 6 02 2x xy y- + =  is

(A) tan-1 1

3

(B) tan-1 2

3

(C) tan-1 3

(D) tan-1 1

2

https://applink.adda247.com/d/XhqWf9lSap
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36. x y z-
=

-
=

-2

3

3

4

4

5

Î¹ºì¹Jà¹ Î³à”z¹àº t¡º[i¡¹ Î³ãA¡¹o Òº

(A) 3 4 5 7x y z+ + =

(B) 2 2 0x y z+ - =

(C) x y z+ - = 2

(D) 2 3 4 0x y z+ + =

37. 2 6x y z- + =  * x y z+ + =2 7 t¡ºƒå[i¡¹
³ì‹¸¹ ÎèÜìA¡ào[i¡ Òº

(A) p

(B)
2

3

p

(C)
p

2

(D)
p

3

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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36. The equation of the plane which is

parallel to the line

x y z-
=

-
=

-2

3

3

4

4

5

is

(A) 3 4 5 7x y z+ + =

(B) 2 2 0x y z+ - =

(C) x y z+ - = 2

(D) 2 3 4 0x y z+ + =

37. The acute angle between the planes 

2 6x y z- + =  and x y z+ + =2 7 is

(A) p

(B)
2

3

p

(C)
p

2

(D)
p

3

https://applink.adda247.com/d/XhqWf9lSap
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38. 2 2 4 6 152 2 2( )x y z x y z+ + - + - =

ëKàºA¡[i¡¹ ¤¸àÎà‹¢ Òº

(A)
11

2
 &A¡A¡

(B) 11 &A¡A¡ 

(C)
11

2
 &A¡A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

39. [t¡>[i¡ "ìÛ¡¹ ÎìU Î³à> ëA¡àìo >t¡ &A¡[i¡
Î¹ºì¹Jà¹ ëA¡àÎàÒü> [ƒKS¡ìKàË¡ã Òº

(A) ±
1

3
, ±

1

3
, ±

1

3

(B) ±
6

7
, ±

2

7
, ±

3

7

(C) ±
1

3
, ±

1

3
, ±

1

3

(D) ±
1

7
, ±

3

14
, ±

1

14

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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38. The radius of the sphere

   2 2 4 6 152 2 2( )x y z x y z+ + - + - =

is

(A)
11

2
 units

(B) 11 units

(C)
11

2
 units

(D) None of the above

39. The direction cosines of the line that 

makes equal angles with three axes

in a space are

(A) ±
1

3
, ±

1

3
, ±

1

3

(B) ±
6

7
, ±

2

7
, ±

3

7

(C) ±
1

3
, ±

1

3
, ±

1

3

(D) ±
1

7
, ±

3

14
, ±

1

14

https://applink.adda247.com/d/XhqWf9lSap
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40. (0, 0, 0), ( ,1 0, 0), (0, 1, 0) *
(0, 0, 1) [¤–ƒåKà³ã ëKàºìA¡¹ ëA¡–ƒø Òº

(A) - - -
æ
è
ç

ö
ø
÷

1

2

1

2

1

2
, ,

(B)
1

3

1

3

1

3
, ,

æ
è
ç

ö
ø
÷

(C)
1

2

1

2

1

2
, ,- -

æ
è
ç

ö
ø
÷

(D)
1

2

1

2

1

2
, ,

æ
è
ç

ö
ø
÷

41. b &¹ ë™ ³àì>¹ \>¸

f x
x x

x bx x
( )

,

,
=

- < £

+ < <

ì
í
î

5 4 0 1

4 3 1 22

ó
ó

[ƒ
[ƒ

"ìšÛ¡A¡[i¡ ÒüÒà¹ Î}`¡à¹ ëÛ¡ìy¹ šøìt¡¸A¡[i¡
[¤–ƒåìt¡ Î”zt¡ t¡à Òº 

(A) -1

(B) 0

(C) 1

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

42. lim
n

n

® ¥
× ×é

ëê
ù
ûú

3 3 3 32 4 8 2L  &¹ ³à> Òº

(A) 1

(B) 3

(C) 3

(D) loge 3

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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40. The centre of the sphere which

passes through the points (0, 0, 0), 

( ,1 0, 0), (0, 1, 0) and (0, 0, 1) is

(A) - - -
æ
è
ç

ö
ø
÷

1

2

1

2

1

2
, ,

(B)
1

3

1

3

1

3
, ,

æ
è
ç

ö
ø
÷

(C)
1

2

1

2

1

2
, ,- -

æ
è
ç

ö
ø
÷

(D)
1

2

1

2

1

2
, ,

æ
è
ç

ö
ø
÷

41. The value of b for which the function

   f x
x x

x bx x
( )

,

,
=

- < £

+ < <

ì
í
î

5 4 0 1

4 3 1 22

if

if

is continuous at every point of its
domain, is

(A) -1

(B) 0

(C) 1

(D) None of the above

42. The value of

    lim
n

n

® ¥
× ×é

ëê
ù
ûú

3 3 3 32 4 8 2L

is

(A) 1

(B) 3

(C) 3

(D) loge 3

https://applink.adda247.com/d/XhqWf9lSap
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43. ™[ƒ x at= 2, y at= 2  ¤ìyû¡¹ ÑšÅ¢A¡

x-"ìÛ¡¹ ÎìU º´¬ ÒÚ, t¡àÒìº ÑšÅ¢[¤–ƒå[i¡ Òì¤

(A) ( , )a a

(B) ( , )0 a

(C) ( , )a 0

(D) ( , )0 0

44. x &¤} y ƒå[i¡ W¡º¹à[Å ë™Jàì> x > 0 &¤} 
xy = 1. t¡àÒìº ( )x y+  &¹ "¤³ ³à> Òì¤ 

(A) 2

(B) 3

(C) 4

(D) 0

45. ³‹¸³³à> l¡üššàƒ¸ ">åÎàì¹

¢ =
-

-
f x

f b f a

b a
t( )

( ) ( )

t¡àÒìº

(A) a x bt< £

(B) a x bt£ <

(C) a x bt< <

(D) a x bt£ £

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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43. If the tangent of the curve x at= 2, 

y at= 2  is perpendicular to x-axis,

then its point of contact is

(A) ( , )a a

(B) ( , )0 a

(C) ( , )a 0

(D) ( , )0 0

44. x and y be two variables such that 

x > 0 and xy = 1, then the minimum

value of ( )x y+  is

(A) 2

(B) 3

(C) 4

(D) 0

45. According to the mean value

theorem

¢ =
-

-
f x

f b f a

b a
t( )

( ) ( )

then

(A) a x bt< £

(B) a x bt£ <

(C) a x bt< <

(D) a x bt£ £

https://applink.adda247.com/d/XhqWf9lSap
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46. ™[ƒ P x( ) &³> &A¡[i¡ [yQàt¡ ¤×šƒ ¹à[Å³àºà
ÒÚ ™àÒà¹ P ( )0 4= , ¢ =P ( )0 3, ¢¢ =P ( )0 4, 

¢¢¢ =P ( )0 6 t¡àÒìº ¢ -p ( )1 &¹ Î³à>

(A) -10

(B) 10

(C) 2

(D) 1

47. 1

1

2

4

+

+
ò

x

x
dx &¹ ³à> Òº

(A) tan- +1 x c

(B)
1

2

1

2

1
2

tan- -æ

è
ç
ç

ö

ø
÷
÷ +

x

x
C

(C)
1

2

1tan- +x C

(D)
1

2
1sec- +x C

48. xf x dx(sin )
0

p

ò  &¹ Î³à>

(A) p
0

p
f x dx(sin )ò

(B)
p

2 0

p
f x dx(sin )ò

(C)
p

0

p /

2

2
f x dx(sin )ò

(D) p
0

p
f x dx(cos )ò

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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46. If P x( ) be a polynomial of degree 3,

with P ( )0 4= , ¢ =P ( )0 3, ¢¢ =P ( )0 4, 

¢¢¢ =P ( )0 6, then ¢ -p ( )1 equals to

(A) -10

(B) 10

(C) 2

(D) 1

47.
1

1

2

4

+

+
ò

x

x
dx equals

(A) tan- +1 x c

(B)
1

2

1

2

1
2

tan- -æ

è
ç
ç

ö

ø
÷
÷ +

x

x
C

(C)
1

2

1tan- +x C

(D)
1

2
1sec- +x C

48. The integral

xf x dx(sin )
0

p

ò

equals

(A) p
0

p
f x dx(sin )ò

(B)
p

2 0

p
f x dx(sin )ò

(C)
p

0

p /

2

2
f x dx(sin )ò

(D) p
0

p
f x dx(cos )ò

https://applink.adda247.com/d/XhqWf9lSap
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49. 1
20

2
+ò sin

x
dx

p
 &¹ ³à> Òº

(A) 0

(B) 2

(C) 4

(D) 8

50. y x x= + -4 3 2  ¤yû¡ * x-"ìÛ¡¹ ³‹¸¤t¡ã¢

"e¡ìº¹ ëÛ¡yó¡º

(A)
125

3
 ¤K¢ &A¡A¡

(B)
125

4
 ¤K¢ &A¡A¡

(C)
125

6
 ¤K¢ &A¡A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

51. dx

x x( )10 +

¥

ò  Î³àA¡º>[i¡ &A¡[i¡

(A) šø=³ šøA¡àì¹¹ "šøAõ¡t¡ Î³àA¡º>

(B) [‡t¡ãÚ šøA¡àì¹¹ "šøAõ¡t¡ Î³àA¡º>

(C) [³Åø šøA¡àì¹¹ "šøAõ¡t¡ Î³àA¡º>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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49. The value of 1
20

2
+ò sin

x
dx

p
 is

(A) 0

(B) 2

(C) 4

(D) 8

50. The area between the curve 

y x x= + -4 3 2 and the x-axis is

(A)
125

3
 sq. units

(B)
125

4
 sq. units

(C)
125

6
 sq. units

(D) None of the above

51. The integral

dx

x x( )10 +

¥

ò

is an

(A) improper integral of first kind

(B) improper integral of second kind

(C) improper integral of mixed kind

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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52. 5

2

5

2

5

2
B ,

æ
è
ç

ö
ø
÷ &¹ ³à>

(A)
p

128

(B)
3p

128

(C)
p

128

(D)
15

256

p

53. ™[ƒ

  
d y

dx

d y

dx

d y

dx

d y

dx
x

2

2

2

2

3

3

3

3

3
2

5

1
æ

è
ç

ö

ø
÷ +

æ

è
ç

ö

ø
÷

+ = +

"¤A¡º Î³ãA¡¹ìo¹ ³àyà * Qàt¡ ™=àyû¡ì³ r  * s
ÒÚ t¡àÒìº

(A) r = 3, s = 3

(B) r = 3, s = 2

(C) r = 3, s = 5

(D) r = 3, s = 1

54. 2 3x
dy

dx
y- =  "¤A¡º Î³ãA¡¹ìo¹ Î³à‹à> ë™ 

¤yû¡ìA¡ Îè[W¡t¡ A¡ì¹,t¡à Òº

(A) Î¹ºì¹Jà

(B) ¤õv¡

(C) "[‹¤õv¡

(D) l¡üš¤õv¡

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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52. The value of 
5

2

5

2

5

2
B ,

æ
è
ç

ö
ø
÷ is

(A)
p

128

(B)
3p

128

(C)
p

128

(D)
15

256

p

53. If r and s are respectively the order

and degree of the differential

equation

   
d y

dx

d y

dx

d y

dx

d y

dx
x

2

2

2

2

3

3

3

3

3
2

5

1
æ

è
ç

ö

ø
÷ +

æ

è
ç

ö

ø
÷

+ = +

then

(A) r = 3, s = 3

(B) r = 3, s = 2

(C) r = 3, s = 5

(D) r = 3, s = 1

54. The solution of the differential

equation 2 3x
dy

dx
y- =  represents

(A) straight line

(B) circle

(C) parabola

(D) ellipse

https://applink.adda247.com/d/XhqWf9lSap
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55. 1
4

,
pæ

è
ç

ö
ø
÷ [¤–ƒåKà³ã ëA¡à> ¤ìyû¡¹ ( , )x y  [¤–ƒåìt¡

ÑšÅ¢ìA¡¹ >[t¡ Òº 
y

x

y

x
- cos2 . ¤yû¡[i¡¹

Î³ãA¡¹o Òì¤

(A) y x
e

x
=

æ
è
ç

ö
ø
÷

ì
í
î

ü
ý
þ

-tan log1

(B) y
e

x
=

æ
è
ç

ö
ø
÷

ì
í
î

ü
ý
þ

-tan log1

(C) y x
x

e
=

æ
è
ç

ö
ø
÷

ì
í
î

ü
ý
þ

-tan log1

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

56. xp yp a2 0- + =  p
dy

dx
=

æ
è
ç

ö
ø
÷ Î³ãA¡¹ìo¹

[¤[ÅÊ¡ Î³à‹à> Òº

(A) y ax2 2=

(B) y ax2 4=

(C) x ay2 2=

(D) x ay2 4=
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/6 22

55. The slope of the tangent at ( , )x y  to a

curve passing through 1
4

,
pæ

è
ç

ö
ø
÷ is given 

by 
y

x

y

x
- cos2 . Then the equation of

the curve is

(A) y x
e

x
=

æ
è
ç

ö
ø
÷

ì
í
î

ü
ý
þ

-tan log1

(B) y
e

x
=

æ
è
ç

ö
ø
÷

ì
í
î

ü
ý
þ

-tan log1

(C) y x
x

e
=

æ
è
ç

ö
ø
÷

ì
í
î

ü
ý
þ

-tan log1

(D) None of the above

56. The singular solution of the

equation

xp yp a2 0- + =  p
dy

dx
=

æ
è
ç

ö
ø
÷

is

(A) y ax2 2=

(B) y ax2 4=

(C) x ay2 2=

(D) x ay2 4=

https://applink.adda247.com/d/XhqWf9lSap
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57. d y

dx

dy

dx
y e x

2

2
45 6- + =  "¤A¡º Î³ãA¡¹ìo¹ 

Î´šèo¢ Î³à‹à> Òº

(A) y C e C e ex x x= + +1
2

2
3 41

2

(B) y C e C e ex x x= + +1
2

2
3 4

(C) y C e C e ex x x= + +1
2

2
3 42

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

58. dy

dx
x x y x( log ) log+ = 2  "¤A¡º

Î³ãA¡¹o[i¡¹ Î³àA¡º> P¡oàS¡ Òì¤

(A) ex

(B) log x

(C) log (log )x

(D) x

59.
r
a i k= -3$ $, 

r
b i j= +$ $2  ë®¡C¡¹ ƒå[i¡ &A¡[i¡

Îà³à”z[¹ìA¡¹ Î[Ä[Òt¡ ƒå[i¡ ¤à× Òìº &¹ ëÛ¡yó¡º 
Òì¤

(A) 17 ¤K¢ &A¡A¡

(B) 14 ¤K¢ &A¡A¡

(C) 41 ¤K¢ &A¡A¡

(D) 7 ¤K¢ &A¡A¡

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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57. The complete solution of the

differential equation

d y

dx

dy

dx
y e x

2

2
45 6- + =

is

(A) y C e C e ex x x= + +1
2

2
3 41

2

(B) y C e C e ex x x= + +1
2

2
3 4

(C) y C e C e ex x x= + +1
2

2
3 42

(D) None of the above

58. The integrating factor of the

differential equation

dy

dx
x x y x( log ) log+ = 2

is given by

(A) ex

(B) log x

(C) log (log )x

(D) x

59. The vectors 
r
a i k= -3$ $, 

r
b i j= +$ $2  are

adjacent sides of a parallelogram,

then its area is

(A) 17 sq. units

(B) 14 sq. units

(C) 41 sq. units

(D) 7 sq. units

https://applink.adda247.com/d/XhqWf9lSap
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60. ¡™[ƒ

  
r r r r r r r r r r
r a b c b c a c a b= ´ ´ + ´ ´ + ´ ´( ) ( ) ( )

ÒÚ, t¡ì¤

(A)
r
r  &A¡[i¡ &A¡A¡ ë®¡C¡¹

(B)
r r
r = 0

(C)
r r r r
r a b c= + +

(D)
r r r r
r a b c= + +( )2

61. ëƒ*Úà "àìá | |
r
a = 3 &¤} | |

r
b = 4. l &¹ ë™

³àì>¹ \>¸ 
r r
a b+ l  &¤} 

r r
a b- l  š¹Ñš¹ º ¬́ 

t¡à Òº

(A) ±
3

4

(B) -
2

3

(C)   
2

3

(D) -
3

5

62. ƒå[i¡ ë®¡C¡ì¹¹ ë®¡C¡¹ P¡o> Òº

(A) Ç¡‹å³ày ë®¡C¡¹

(B) Ç¡‹å³ày ëÑHºà¹

(C) &A¡[i¡ ëÑHºà¹ "=¤à &A¡[i¡ ë®¡C¡¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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60. If 

  
r r r r r r r r r r
r a b c b c a c a b= ´ ´ + ´ ´ + ´ ´( ) ( ) ( )

then

(A)
r
r  is a unit vector

(B)
r r
r = 0

(C)
r r r r
r a b c= + +

(D)
r r r r
r a b c= + +( )2

61. Let | |
r
a = 3 and | |

r
b = 4. The value of l

for which 
r r
a b+ l  and 

r r
a b- l  are

perpendicular is given by

(A) ±
3

4

(B) -
2

3

(C)   
2

3

(D) -
3

5

62. Vector multiplication of two vectors

is

(A) vec tor only

(B) sca lar only

(C) a sca lar or a vector

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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63. ™[ƒ 
r
f zi xj yk= + +$ $ $ ÒÚ, t¡ì¤

curl (curl 
r
f )

&¹ ³à>

(A) -1

(B)
r
0

(C) 1

(D) $ $ $i j k+ +

64. ™[ƒ 
r
r t i t j t k= + -5 2 3$ $ $ &¤} 

r
s t i t j= -sin $ cos $ ÒÚ, t¡àÒìº 

d

dt
r s( )
r r

×

&¹ ³à> Òº

(A) 5 112t t tcos sin+

(B) ( )cos sin5 1 112t t t t+ +

(C) ( )cos sin5 1 112t t t t- +

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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63. If 
r
f zi xj yk= + +$ $ $, then curl (curl 

r
f )

is equal to

(A) -1

(B)
r
0

(C) 1

(D) $ $ $i j k+ +

64. If 
r
r t i t j t k= + -5 2 3$ $ $ and 

r
s t i t j= -sin $ cos $, then the value of 

d

dt
r s( )
r r

×  is

(A) 5 112t t tcos sin+

(B) ( )cos sin5 1 112t t t t+ +

(C) ( )cos sin5 1 112t t t t- +

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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65. >ãìW¡¹ [¤¤õ[t¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ Î[k¡A¡?

(A) ƒå[i¡ l¡üv¡º ëÎiô¡ &¹ ëáƒ &A¡[i¡ l¡üv¡º ëÎiô¡
>Ú¡ú

(B) &A¡[i¡ š¹àÎ³t¡º l¡üv¡º ëÎiô¡ >Úú

(C) ƒå[i¡ l¡üv¡º ëÎiô¡ &¹ Î}ì™àK &A¡[i¡ l¡üv¡º
ëÎiô¡ Òìt¡ šàì¹ "à¤à¹ >à* Òìt¡ šàì¹ú

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

66. ‹¹à ™àA¡ 3 2 4 6 71 2 3 4x x x x+ + + =

&A¡[i¡ š¹àÎ³t¡º &¤} A = { , , , }6 1 7 2  &A¡[i¡
šøƒv¡ [¤–ƒå¡ú t¡àÒìº

(A) A [¤–ƒå[i¡ š¹àÎ³t¡º[i¡¹ l¡üšì¹ "¤[Ñ‚t¡

(B) ³åv¡û¡ "‹¢ìƒÅ-&¹ ë™ [ƒìA¡ ³èº[¤–ƒå ë>Òü
ëÎÒü[ƒìA¡ A "¤[Ñ‚t¡

(C) ³åv¡û¡ "‹¢ìƒÅ-&¹ ë™ [ƒìA¡ ³èº[¤–ƒå ¹ìÚìá
ëÎÒü[ƒìA¡ A "¤[Ñ‚t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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65. Which of the following statements is

correct?

(A) The intersection of two convex

sets is not a convex set.

(B) A hyperplane is not a convex

set.

(C) The union of two convex sets

may or may not be a convex set.

(D) None of the above

66. Let the equation of the hyperplane is 

3 2 4 6 71 2 3 4x x x x+ + + =  and a

point A = { , , , }6 1 7 2  is given. Then

(A) A lies on the hyperplane

(B) A lies in the open half space not

containing the origin

(C) A lies in the open half space

containing the origin

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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67. x x x1 2 32 9+ + = ,

3 2 5 221 2 3x x x+ + =

í¹[JA¡ Î³ãA¡¹o ƒå[i¡¹ ë³ï[ºA¡ Î³à‹à>P¡[º Òº 
x1 4 5 0= ( , , ), x 2 1 0 5= -( , , ) &¤}
x 3 0 1 4= ( , , ). &Òü Î³à‹à>P¡[º¹ ³ì‹¸
"A¡à™¢A¡¹ ë³ï[ºA¡ Î³à‹à>[i¡ Òº

(A) x1 4 5 0= ( , , )

(B) x 2 1 0 5= -( , , )

(C) x 3 0 1 4= ( , , )

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

68. 1, 2, 1 š[¹Î}J¸à™åv¡û¡ 4, 6, 9 &¹
P¡ìoàv¡¹ãÚ ³‹¸A¡ Òº

(A) 5

(B) 6

(C) 7

(D) 8

69. &A¡[i¡ 100 [i¡ š™¢ì¤Û¡ìo¹ ëÎìi¡¹ Îì¤¢àZW¡ ³à>
97·5 ë=ìA¡ 197·5 & š[¹¤[t¢¡t¡ Òº¡ú t¡àÒìº
>ãìW¡¹ ëA¡à> [¤¤õ[t¡[i¡ Î[k¡A¡?

(A) KØl¡, ³‹¸³à * Î}J¸àK[¹Ë¡ ³à> "š[¹¤[t¢¡t¡ 
=àA¡ì¤¡ú

(B) Ç¡‹å³ày KØl¡ * ³‹¸³à š[¹¤[t¢¡t¡ Òì¤ú

(C) KìØl¡¹ ³à> 1 ¤õ[‡ý¡ šàì¤, ³‹¸³à *
Î}J¸àK[¹Ë¡ ³à> "š[¹¤[t¢¡t¡ =àA¡ì¤ú

(D) ³‹¸³à * Î}J¸àK[¹Ë¡ ³à> 1 ¤õ[‡ý¡ šàì¤,
KØl¡ "š[¹¤[t¢¡t¡ =àA¡ì¤ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà
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67. The basic solutions of the system of

linear equations x x x1 2 32 9+ + =

and 3 2 5 221 2 3x x x+ + =  are 

x1 4 5 0= ( , , ), x 2 1 0 5= -( , , ) and 

x 3 0 1 4= ( , , ). Among these solutions

the non-feasible basic solution is

(A) x1 4 5 0= ( , , )

(B) x 2 1 0 5= -( , , )

(C) x 3 0 1 4= ( , , )

(D) None of the above

68. The geometric mean of 4, 6, 9 with

frequency 1, 2, 1 is

(A) 5

(B) 6

(C) 7

(D) 8

69. The highest value 97·5 of a set of

100 observations is changed to

197·5. Then which of the following

statements is correct?

(A) Mean, median and mode are

unchanged.

(B) Mean and median are changed

only.

(C) Mean is raised by 1, median and 

mode are unchanged.

(D) Median and mode are raised by

1, mean is unchanged.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


70. Sx = 12, Sy = 4, Sx 2 16 20= × , 

Sy 2 1 96= × , Sxy = ×5 2, n = 10 šøƒv¡¡ú

&¹ ÎÒÎ´¬Þê¡ P¡oàS¡ Òº

(A)
2 5

9

(B)
5

9

(C)
2 5

3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

71. 3, 5, 8, 7, 5, 7 &¹ Î³A¡ šà=¢A¡¸ 1·675

Òìº 25, 27, 30, 29, 27, 29 &¹ Î³A¡
šà=¢A¡¸ Òì¤

(A) 1·675

(B) 3·35

(C) 22·675

(D) 23·675

72. ƒåÒü[i¡ Î³àÅøÚo P¡oàS¡ bxy  &¤} byx  &¹ P¡oó¡º

(A) 1

(B) r

(C) r 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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70. Given Sx = 12, Sy = 4, Sx 2 16 20= × , 

Sy 2 1 96= × , Sxy = ×5 2, n = 10. The

correlation coefficient is

(A)
2 5

9

(B)
5

9

(C)
2 5

3

(D) None of the above

71. If the standard deviation of 3, 5, 8,

7, 5, 7 is 1·675, then the standard

deviation of 25, 27, 30, 29, 27, 29

will be

(A) 1·675

(B) 3·35

(C) 22·675

(D) 23·675

72. The product of the two regression

coefficients bxy  and byx  is equal to

(A) 1

(B) r

(C) r 2

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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73. 4 [i¡ "àìšº, 2 [i¡ "à³ &¤} 4 [i¡ A¡ºà ë=ìA¡
W¡à¹[i¡ ¤àáàÒü A¡¹à Òº¡ú ¤àáàÒü A¡¹à ó¡ºP¡[º¹
³ì‹¸ 2 [i¡ "àìšº =àA¡à¹ Î´±à¤>à Òº

(A)
3

7

(B)
11

21

(C)
10

21

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

74. ëA¡à> &A¡[i¡ Qi¡>à Qi¡à¹ Î´±à¤>à 
5

9
. ">¸ &A¡[i¡

Qi¡>à B  Qi¡à¹ Î´±à¤>à 
5

11
. Qi¡>à ƒå[i¡¹ ³ì‹¸

"”zt¡ šìÛ¡ &A¡[i¡ Qi¡à¹ Î´±à¤>à Òº

(A)
6

11

(B)
5

9

(C)
4

9

(D)
79

99

75. ƒåÒü[i¡ ëcò¡àA¡Òã> ºåìl¡à¹ áB¡à ëáàòØl¡à Òìº ƒåÒü[i¡
áB¡à¹ points &¹ ë™àKó¡º 4 &¹ P¡[ot¡A¡
Ò*Úà¹ Î´±à¤>à Òì¤

(A)
1

9

(B)
1

3

(C)
1

4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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73. From 4 apples, 2 mangoes and 4

bananas, 4 are selected. The

probability that there are exactly 2

apples among the selected fruits is

(A)
3

7

(B)
11

21

(C)
10

21

(D) None of the above

74. The probability of occurrence of an

event is 
5

9
. The probability of non-

occurrence of the event B  is 
5

11
. The

probability that at least one of them

will occur is

(A)
6

11

(B)
5

9

(C)
4

9

(D)
79

99

75. In a throwing of two unbiased dice,

the probability that the sum of the

points on the two dice will be

multiple of 4 is

(A)
1

9

(B)
1

3

(C)
1

4

(D) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :

1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà
¤ºšìÚ–i¡ A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à
tò¡àìƒ¹ ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR

l¡üv¡¹šy * šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú

5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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ëó¡à>, ">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.
š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡
A¡àl¢¡ * ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.
ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú

8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.
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[‡t¡ãÚ¤à¹ Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú

9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK

A¡¹ìt¡ šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸
Òì¤ &¤} t¡à ">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú

11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ *
[>ìƒ¢[ÅA¡à ">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú

13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹
Îàì= [>ìÚ ë™ìt¡ šàì¹>¡ú
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